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Read the following instructions carefully before you begin to answer the questions.

Important Instructions

. Immediately after commencement of the examination, check that the question booklet

does not have any unprinted or torn or missing pages or items. If so, get it replaced by a
complete question booklet.

The test booklet series must be marked in the OMR sheet as well as attendance sheet.

The question paper is in the form of a booklet. Each question is printed both in Hindi and
English. In all matters, the English version is final. Each question comprises four answers
i.e., (A), (B), (C) and (D). You will select the answer which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct answer, mark the answer which you
consider the best. In any case, choose only one answer for each question.

Put your signature in the OMR answer sheet and the attendance sheet given by the invigilator.
Ensure that the invigilator has signed in your OMR answer sheet.

Use BLACK INK BALL POINT PEN ONLY and avoid gel pens and fountain pens for
filling the OMR answer sheet.

Darken the circle on the OMR answer sheet completely. Don’t use whiteners, tick mark or
any other mark and half-filled circle.

No writing is permitted in the OMR answer sheet other than in the permitted spaces.

Do not use the OMR answer sheet for doing any rough work. Space for rough work is appended
in the question booklet at the end.

Do not fold or mutilate or make any stray marks on the OMR answer sheet.

Each correct answer will carry ONE Mark. 0.33 mark will be deducted for each incorrect/wrong
answer.

Multiple answers for a question will be treated as WRONG ANSWER. Un-attempted question
will carry NO MARK.

No candidate shall be allowed to leave the Examination Hall till the completion of the
examination.




Ql

“God of sleep” is the common name of

"Aig T HITTTA"

2
A FT AT ATH g2

A)

Davana SaTaT

Ashwagandha 372a3TeIT

©)

Mint ShdTe

D)

Aloe :gw

Q2

Ribbon formation is the characteristics of which soil?

fae o fre Aed fr f[dva &

A)

Sand ¥

B)

Sandy loam dTell AT

0)

Loam faressir E'C:I’é' ﬁw

Clay et fATE

Q3

Which one the following breeding method is NOT followed in cross pollinated crops?

FT GRS BEer § FEAfai@d Tofelsl fafer T 9Tdlel @il AT Al Har
ST 82

A)

_Mass Selection Sl T

B)

Synthetic variety afRerse YR

oy

Pure line selection

Y W1 TIA

D)

Heterosis dAT&TAAT

Q4

“Cono- weeder” is used in weeding of which type of soil?

A F 3T BRE TR A A F s # R s @

N

s

Puddle soil M@ fATEr

B)

Red soil arer fAZE

©)

Granular soil ST=Tel
A

~

D)

Hard soil 3R fATEr

Q5

Which one of the following herbicide is NOT systemic in nature?

feAfaf@d & & &l a1 el ghfd # yomelera w8 87

A)

Glyphosate TATSR3HAT

7

Paraquat Rrerare

C)

Atrazine BHTTEﬂFT

D)

2,4-D 2,4-3

Q6

ULV stands for what? ULV &T Addd &7 §?

A)

2

Ultra-Low Viscous sprayers
3Teel-dA fared T

B)

Ultra-Light Volume sprayers
A T WS T

ey

Ultra-Low Volume sprayer
HA-3mT TR

D)

Ultra-Low Velocity sprayer
HfA-HH AT TR

Q7

“Barometer” measure which of the following?

" 3y Ffaf@a & @ Pl ar @2

A)

Sun Light & Sehrer

B

Atmospheric Pressure W EiC)




P
C) | Rainfall arfer D) | Air flow arg-warg
Q8 Which of the following is responsible for “guttation” in plants?
m HA ¥ Fia gial #F "guttation" & AT AR &2
I }rf Root Pressure B) | Fungal Infestation
SIS &l qdld G ThAT
C) | Photosynthesis D) [ Osmosis
STl HA IHEAY
Q9 | Which of the following is a “Man Made Vegetable”?
fAfaf@a # & 9 & "Awe AT Tt
A) | Chinese Carrot B) | Hakuran
AT IS gTHOT
J y)’ Rutabaga D) [Rhubarb
FTETT R iCCE
Q10 | In which year, “Pradhan Mantri Fasal Bima Yojana” was implemented?
g a¥ A, g A wrEd ST 1 ] faRar arar ar
A) (2019 2016
C) [2014 D) [2018
Q11 |Indisc plough, what will be the range of “Disc Angle™?
3% g A, "f3FF Fror i @A F24r gein
A) 415-25° B) [25°-35°
P 420 -45° D) |46° - 48°
Q12 | In which phase of mitosis, the Spindle apparatus is formed?
AAAT & g =T #, RRuse 39T S ar &
A) | Telophase B) | Prophase
P ikl g
2J | Metaphase D) | Anaphase
Aerther AT
QI3 | “Peroxisomes” are involved in which type of reactions pertaining to plant
photosynthesis?
"IRIFHEF" THRN FRAYT F AW o v it gfafransit & enfae &
A) | Calvin Cycle 137 | Glyoxylate Cycle
Fifedsd ASHA Foufdaee agsa
C) | Glycolytic Cycle D) | Bacterial Photosynthesis
ToTgHIfACH  HIShel Sfraro] gehrer FeewoT




Q14 | Which among the following is a rainy cloud?
fregfaf@a & & @l ar aRer e &2
| A9 | Cumulonimbus B) | Cirrus
e QUG (RiRSs)
C) | Stratus D) | Cumulus
sl FHH
Q15 | The increased performance of F hybrid over its parents is called as?
MW-WWFlasﬁg#aagvmhﬁmm%?
A) | Crossing over B) | Inbreeding
EQIT LIS 37 Sotete
C) | Dominance D7 | Heterosis
EEIC) AT&TAAT
Q16 | What is called the practice of growing fodder grasses and legumes and annual crops in
rotation?
aRT ' 3R wfoar 3R AL A arfies GHAT N I H1 HATH FAT FHgl
ST &7
A) | Strip cropping \ Ley farming
el d HH TS FiY
C) | Alley cropping D) | Mixed Cropping
Q17 | What is known as the “Multiple effects of a single gene”?
"UF S & FS THE" & FT H FIT AT AT 87
A) | Polyploidy B) | Heteroploidy
(EGICIE] | FRTATs
@/& Pleiotropy D) | None of these
it s & N @
Q18 | In which year, e-National Agriculture Market trading portal was launched?
g af &, S Tlieewk Arde ¥ Oice dled T aar A
A) (2020 B) (2018
C) (2014 2016
R\\k
Q19 | How much percentage of population depends on Agriculture in India?
HRA F FN W FAaear F fiden gfaerd @R Far
A) |20 B) [40
| 60 D) [80
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Q20 | “Retting” is a process used for which of the following crop?
A ww gfshar & S 3w woe # & s e fear smar @
s Jute ST B) | Maize #reFmr
©) Sugarcane 3Te=lT D) | Cotton &urd
Q21 | Pyranometer is used to measure which of the following?
AT T 39T Aafaf@a & @ Fas aua & fav fRar sar &
A) | Relative Humidity B) | Evapo-transpiration
AHY aredeRyoT
Solar radiation D) | Wind turbulence
"Iy fafevor arg 3wt
Q22 | In which of the following plants “Late blight” disease can be found?
fAefaf@a # @ Fy 9 # "aT sage” A o a1 g {2
A) | Potato 3Te] B) | Tomato TATEX
Both A) and B) D) | None of these
A) 3R B) gt $TH ¥ IS |
Q23 | What is “Isohyet”?
"Isohyet" T %‘7
A) | Line of equal temperature | B) | Line of equal pressure
JHATA AT9A $T Y@r AT 21e S @r
\9), Line of equal rainfall D) |Line of equal humidity
A ast i x@r A 3HGar $r @r
Q24 | Which is a major component of “Bordeaux mixture”?
"aIst A0 T Uh YHE HeE HiT W@ §?
A) | Sodium oxychloride B) | Copper oxychloride
AT FadFaREs IR SRS
C) | Calcium sulphate \)?f Copper sulphate
Hfewad Tohe HII Hothe
Q25 | Which of the following steps is NOT associated with soil particle size analysis?
frfaf@a & & Hla a1 w1 A & Fo1 3R F Ao ¥ g7 A .
A) | Dispersion \Pf Fractionation
tora [EEIECH
C) | Flocculation D) | Sedimentation
ColTehehloT2re fasfa




P

Q26

When did Dr. Norman E. Borlaug receive Nobel Prize for his contribution to world
peace through increasing food supply?

ﬁla‘lﬁﬂélaﬁwﬁrﬁmamﬁaa##mwﬁmaaﬁ%ﬁm
Adrerer & foT Aee RERR Fd fAem

A) 11960

B) [ 1965

1970

D) | 1975

Q27

How much area is required to plant 1600 trees at a spacing of 2.5 m x 2.5 m?

2 5m x2.5m F AT GT 1600 UZ TN F AT rceT & Hr TR 82

A) | 5.5 acre

B) | 3.5 acre

2.5 acre

D) |4.5 acre

Q28

ST 82

What are called the plants adapted to growing in saline conditions, as in salt marsh?

THF goed & WX aRfEufaEt # s & v sgiad 9t S Fr FHe

A) | Mesophytes

fAewEied

B) | Glycophytes
TATSHIRISCH

Halophytes

gormrsied

D) | Hydrophytes

hgIpIseH

Q29

The “Polyneuritis” in poultry is caused by deficiency of which of the following?

mﬁ"ﬁm‘ﬁmﬁﬁaﬁﬁmma:mmg?

A) | Zinc STEAT

B) , Calciferol Feathae

C) |1ron Fﬂ%’l’

\ Thiamine A=

Q30

Which of the following facts of “Ozone” are correct?

1) It helps in protecting us from UV rays from the sun.

it) It acts as Green House Gas and brings Global Warming.

iii)  Ground level Ozone is an air pollutant that is harmful to breath.
iv) It can sterilize the surface of fruits and vegetables.

"IN & RS a2 diT F FE
) 7F & e @ g Rt & FEm F Heg T &l
ii)agmﬂmﬂW%mﬁWém%mmaaﬁwmm
iii)mmmwmwéwmaﬁtﬁvgﬁwél
iv) TE Belt 3R TewEl A Fag F ASHT F FhAT &

A) | i)+ ii) + iii)

B) | i)+iii) +1iv)

C) |i)+ii)+iv)

\,B‘)' All the above

5|Page




D | Match List 1 with List 11 gt 118 @rer g |
List I List IT
a) Little leaf i) Iron
b) Bitter pit ii) Potassium
¢) Marginal burning of leaf iii) Zinc
d) Interveinal chlorosis iv) Calcium
.. - - - /
A) | a-ii, b-i, c-iv, d-iv 3 a-iii, b-iv, c-ii, d-i
C) | a-iii, b-i, c-iv, d-ii D) | a-iv, b-i, c-ii, d-iii
Q32 | Which of the following facts of “Alkaline soils” are correct?
i) pH is greater than 8.5
ii) ESP is greater than 15%
iii) EC is greater than 4.0 m.mhos per cm
iv) Dominating compound is sodium carbonate
e A ' & RA gu e #la & w6
i) pH 8.5 & 3t
ii)  ESP 15% & 3= ¢
iii)  EC 4.0 m. mhos percm & 378
iv) SifAafdsr diffe aftas sefac &
P
A) | i) +ii) + iii) N i) +ii) + iv)
C) |ii) +iii) + iv) D) [ All the above
Q33 | Where is “National Centre for Management of Agricultural Extension (MANAGE)”

located?

"HY RAFAR F vaua & v I8 g (vau=)" FEr oua B

A) | New Delhi 7§ feelr B) | Kolkata @rersrar

2 Hyderabad ge3Te1g D) Coimbatoremg

Q34

Which among the following are Bio-control agents?

i) NPV

ii) Micromonospora

iii) BT

iv) Trichoderma viride

fAfaf@a # & Fla Ja-A[gr e P
i) NPV

i)  ATSHAEEIRT




iii) BT

iv) A faass
A) | i)+ ii) +iii) B) | ii) +iii) +iv)
C) |i)+iii) +iv) \ All the above
Q35 |IfA=7/8;B=5/7;C=6/9;D= 9/5, then, which of the following is correct?
P A=7/8:B="5/7;C=6/9;D =9/, 5, Fr=faf@a & & i a1 @@l &
A) | A>B>C>D B) |[ID>A>C>B
: D>A>B>C D) |[A>C>B>D
Q36 | What is the value of 352.30 x 19.5 ?
& Hed T §;352.30 x 19.5
-
X7 | 6869.85 B) [ 68698.5
C) |6869.75 D) |68697.5
Q37 | Which arithmetic operation instead of ?” satisfies the given equation;
"9 ¥ AT Pl TT HHATOAT TR T T FHAOT I TS HIAT
e
2?23+4-5+6=11
A) |+ B).l=
% D) =
Q38 | How many pieces of 75 cm length can be cut from a rod of 40.5 m long?
40.5cm &9 S ¥ 75 cm FGS F THs FIC S Fhd &2
A) | 53 BT | 54
C) |55 D) [56
Q39 | What is the average of first 5 multiples of 5?
5% gger 5 IOTR 1 A FT &2
A) | 10 15
C) [20 D) |25
Q40 | What is the percentage expression of the ratio 3:5?
3: 5% 3T @1 gfaerd sifeafaa = &2
A) 0.6 % B) |6.0%
. 60 % D) | None of these
Q41 | Lakshmi purchased 20 dozens of toy cars at the rate of Rs.375 per dozen. She sold each

one of them at the rate of Rs.33. what is her percentage profit?

7|Pagé
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& & 20 gt QAT FRE F F .75 9 g Y e ¥ @ sE 3
BIAF F T 3T T O 38T gfaera e 21T &

A | 65% VBT 15.6%

C) [35% D) [45%

Q42

A hair band marked at Rs.80 is sold for Rs.68. What is the rate of discount?
Rs.80 W RAEAT U 82 d5 Rs.687 a1 F1em &1 @ &1 X Fr &2

A) | 12% \ 15%

C) [20% D) | None of these

Q43

The volume of a solid sphere is 38808 cm®. The radius of the sphere is?

U I &Y Y ATAT 38808 cm® ¥ 877 Y rsam &2

W 21 cm B) | 22cm
C) [23cm D) [24 cm

)

Q44

In a particular language, North is called Northeast, East is called Southeast, South is
called Southwest and so on; If a person starts walking towards North from South, then
turns 90 degrees to the left and walks further. He then turns to his right by 90 degrees.
Which direction is he facing?

TS QAT 19T &, 3o 1 39R-Yd FgT A1 §, T4 $ SR0T-qd Fgr 1w &, gfayor

T gfeTor-afRes #gr STar § 3R 3 e, IR S cafera af@or ¥ 39w A 3%

TAAT YE FIAT &, ar 90 Bl a1 3R Fzar § 3 3 e ¥ @@ Rw 90 Bafr &
HR Al &1 a8 e ferem T |reem &3 T

4 | North E5E B) | Southwest Zfayor ufdas

&) Southeast af&\-TUT-‘:Iﬁ D) Eastt‘l\é

Q45

Statements are given followed by three conclusions. You have to consider the
statements to be true even if they seem to be at variance from commonly known facts.
You have to decide which of the given conclusions, if any, follow from the given
statements.

et forserst & a1e e T ST &1 3mye! aaTEt B T AT Ao @, T A Y
HAAR I AT a2t & et gF| 379 98 ag s g & Ruavsa=i F &
leT TT sy, afe AL @), &7 grereT Y

Statements: She:

All the cars are bikes.
All the wheels are bikes.
Some doors are wheels.

T FR ATF &
it afgw arss £
$ gIarst afeT §




Conclusions: s

s Some cars are wheels
il. Some bikes are cars
iil. Some bikes are doors
)  FEENIRT

i) 3T ATH IR
i)y  FO A9 XA &

Which of the above conclusions are correct?

IRIFd & A Pt T RS TEE?

- A) | Only (i) Only (ii) and (iii)

C) | Only (i) and (iii) D) |Only (iii)

Q46 | If JUPITER is coded as KTRGWBYV; then, URANUS can be coded as

I JUPITER & KTRGWBYV & &9 & SIf3d fam aram &; fh, URANUS Hr

N ERRE R IRCIRE LIRS
A) [ VQBMVR B) | VSBOTT
| VQCLXP D) | VSDKYP

Q47 | Find out: What is next in the series?

T Y AT 7 3T T 82

0,2,8,82,20,.....7
]
\ 30 B) | 28
C) |38 D) |40
s Solve: g¢l:
27:45::57:7
A) |21 B) [ 72
24 D) |84
Q49 | A team consisting of scientists with specialisation in 3 different arena was formed to
i survey a forest. The team is represented by the following figure.
T STaTeT T FAETOT e 5 T 3 JHeTeT- 37009 &7 #F FAwrar arey dArnt &

BT UF A a1 978 Y| O F wfafaftica Reafaf@a smepfa ganr &
STl

9|Page




Entomologists

Botanists
1 2

5\3 \ 6
7

Pedologists

In the above figure which zone represents Entomologists who are also Pedologists with
no Botany background?

3T HIHF 7 et |7 &1 VelAteliToree 1 Sfafafiea #3ar § s R aaeary
g A arer Geraitoree o &2
2z

A) 4 & |5

O |3 . D) |6

Q50 [P,Q,R,S, Tand U are sitting in a round table; not necessarily in the same order. The
round table has six chairs regularly placed around. It is known that;

P,QR, S, TIHR U T M AT & I &, =l 781 & 32 v & &) e AT
mﬁamﬂm’m%luﬁm%m
L P is between S and U.

II. R is opposite to S.
I[II. S and T are not on neighbouring chairs.

L. ISP, SIARUF T
. R,S. ¥ Fada g
OL S 3R T g8 HEAT o 78 &

Which of the following must be true?

fArfaf@a & @ #la ar gcg gar afrw

A) | P is opposite to Q. B) | Sis opposite to T.
P, Q & faudia g1 S, T& faudia g1

C) |Rand Q are neighbours. 1% | Q and T are neighbours.
R 3R Q =R & Q 3R T g &)

Q51 |If ARGENTINA is coded as BTJISZPVJ; then, VENEZUELA can be coded as
If& ARGENTINA $Y BTJISZPVJ & &9 & F1f2q far rar &; %, VENEZUELA

&I FIfST AT 31 TFhar & -~

A) | WGQHEALT]J WB8) | WGQIEALTJ

C) | WHQIEALTJ D) | WHQIEAKT)




Q52

How many squares and triangles are there in the following figure?

Pyl ampfa 7 fras aot 3R BT &2

XXX

A)

25 triangles and 3 squares

25 Fyanror 31 3 g9t

B)

28 triangle and 3 squares

28 Fepror 31 3 et

©)

25 triangles and 5 squares

25 Farror 3R 5 F9t

B

28 triangles and 5 squares

28 FpIoT 3R 5 a9t

Q53

Which of the following statement (s) is/are correct:

eRRTFdRTTFIA TN/ &

i) The plants need short days first and then followed by long days to flower are called
as “Short-Long day plants”.
ii) Short day plants flower when the night length falls below their critical photoperiod.
iii) Long day plants flower when the night length exceeds their critical photoperiod.

i)

ii)

iii)

qieit T gger BYE Rt A smaeaerar @i & AR A o et T e F a1
"BIE-oia et & dier" &gT ST Bl
ST T Y e 3% AgeaqoT BeIRIs A A el & dr ore foret & o

Ferd &

mm@rmmm@mﬁmammﬁm*

oY Ferd &

i) only

B)

i) + ii) only

)

i) + ii) + iii)

D)

None of the above

Q54

Choose the appropriate matching terms in cell cycle.

et T H 3ugEd A Uee T+

i) Gi phase a) DNA content of the cell will be maximum

ii) G2 phase b) The cell actually divides

iii) S phase c) Cell does not replicate

iv) M phase d) RNA an teins are produced

A)

i) — d); ii) — ©); iii) — b);
iv) —a)

3

i) —¢); ii) — d); iii) — a); iv) — b)

0

i) — b); ii) — ¢); iii) —d);
iv)—a)

D)

i) — ¢); ii) — a); iii) —d); iv) — b)

11|Page
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Q55 | Which of the following is NOT a necessary assumption underlying the use of ANOVA
technique?

fArafaf@d & @ #la @ ANOVA Felies & 3uter & v v 3mavae o A8
&

i) the means of the population are equal.

ii) the populations are normally distributed.

iii)  the variances of the population are same.

iv) samples are independent and randomly selected.

i) TAHEIT & AT AT 1

ii) SIS @AY &9 & faafa $r s &

iii) STTHET & HEHIOT AT &

iv) FHA T AR TooF 79 F T4 10§

VG | i) only B) | i)+ ii) only

C) [1)+ii) +iii) D) [ None of the above

Q56 | Identify the error
Many studies has been directed towards water use at the individual tree and stand level

A) | Many studies b has been directed
C) |towards water use D) | at the individual tree and stand levels
Q57 | The manager instructed the employee that he ------- seek the manager’s permission
before going on leave
A) _ecan B) | would
shall D) | will
Q58 | Select the most appropriate synonym of the word ‘TENACITY’
A) | Respectful B) | Generosity
Determination D) | Laziness

Q59 Selegt the most appropriate antonym of the word ‘CALLOUS’

X7 | sensitive B) obscured
C) | mighty D) | bizarre

Q60 | Which of the following words is misspelled
A) b Privilege B) Liaison
Recieve D) | withhold

Q61 | Who was the founder of India’s first newspaper - ‘Bengal Gazette’?
R & g HWER - ‘SIS ITSIE & HEATTF e A2
A) | Henry Louis Vivian B) J S Buckingam
_#Derozio
\]g James Augustus Hicky D) [Richard Johnston




Q62

Where from the words ‘Satyameva Jayate’ found in the national emblem of India is
taken?

R 3 TSET Ttk 3 UTT S a1l e Weddd ST &gl 3 fordr Sirelr &2

A) | Rig veda %7dg NBT | Atharva veda 374d 3¢
C) |Sama veda TTH a5 D) Yajur veda zxs_i;(a‘la
Q63 | Which of the following statement(s) regarding tropical cyclone is/are NOT correct;
FsoTER AT TwaTd & IR & FeAfar@d & & Pl a7 FUF T ¢ / Tl e &
i)  The central circular region called the eye of the cyclone is characterized by
extreme weather condition with high wind speeds
ii)  Tropical cyclones rotate in clockwise direction in the southern hemisphere.
iii) Tropical cyclone weaken or dissipate after making landfall.
iv)  Smaller tropical cyclones are more prone to rapid intensification.
) TRaTd @Y AW AFE FEAT IRYT 8T FT 3T gaT A AT & T WA
Atga $r feufa & faAvar gl
i) FSUTRTEat TEaTa afarol aiery & gfaomad feu F g &
iii) SYSwiel ST ¥ a1g ISV TshaTd FHSAR AT thel S &
i) BIE ISUEREHRT TEaTd Ao ¥ dierdr & fore 31 waoT g1d &
(4 | i) only B) | i) +ii)
C) |i)+ii) +iii) D) | All the above
Q64 | Which is the largest river in India in terms of volume?

afeqd & A # 9T H FaY G351 76T PIeT H 52

A) ndusfﬁi_{ B) | Ganga 3

o Brahmaputra SeHI D) | Godavari aMgrai

Q65

Government of India recently announced rolling out of Sovereign Green Bonds for the
first time. The proceeds from which sale will be deposited in .......

mmﬁm@rﬁqﬁmmmm#mﬁmﬁﬁmﬁl

L 4¢f | Consolidated Fund of B) | Green Climate Fund
India gRd Seraryg A
AR gAfRa Af 7

C) |PM CARES Fund D) | Contingency Fund of India
fIuH FI 63 AR 3R fEAEar AT

Q66

In the series, 1+4+7+10+...., how many terms has to be taken so that the sum equals
477

ST H, 1+4+7+10+...., frdey 2Te oeY & aTfar AT 477 & SRS &Y

A) [ 17 \J 18

0) [19 D) |20
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Q67 | A person who spends 62.5% of his income is able to save Rs 4500 per month. What is
his monthly expense?

U SITF ST AT 3T FT 62.5% @Y AT &, I8 Tl A 4500 TI T & Gare
¢ FaHT AIAF @ Fa7 82

9 | 7500 B) | 9000
C) [10500 D) [ 12000

Q68 | In a examination, 34% of the students failed in Mathematics; 42% failed in English. If
20 % of the students failed in both the subjects, then, what is the percentage of students
who passed in both the subjects?

TS AGT H, 34% BT 0T 7 fawer @; 3N & 42% e afy Q=1 Rt
20% 377 fawel I8, at, gt st # 3ot st @ afaera w=ar
T | 44% B) | 56%

C) | 72% D) |80%

Q69 | Adithya buys an article for Rs. 27.50 and sells it for Rs. 28.60. Find his gain percentage.
INfEeT T o fAT v @ WhEar §127.50 3R & T9 3 d=rar &1 28.60 | 3THT
FTLHTARNT W |

A | 4% B) | 6%
C) |8% D) | 10%

Q70 | Ziva can do a piece of work 20 days. Zara is 25% more efficient than Ziva. The number
of days taken by Zara to do the same piece of work will be?

FSTaT 20 &1 T3 T Ueh ehaT AT Fehell &1 FRT AT ¥ ot 7 25% 3T Ferer
gl mmwﬁmmﬁ#mfﬁaﬁﬁﬁmmﬁ

A) | 14 days \ 16 days

C) |18 days D) |20 days

Q71 | He said “we had a productive meeting. Let’s call it a day.” What does the phrase ‘call it

a day’ mean?

A) | Hada wonderful meeting MBY | Conclude the meeting

C) | Continue with the meeting | D) | Recall the highlights of the meeting
Q72 | Read the passage and answer the question that follows it

The promotion of agreements for farming produce is an extension of the strategy
of strengthening the process of monetization, whose primary objective is to de-risk
agriculture at various stages. Such agreement will enable scaling of investment by the
industry for production and processing of high-value agriculture produces and give a
fillip to exports. The framework will mitigate the risks for the farmers and enhance their
income.

Which one of the following statements best reflects the crux of the passage?

A) | The agreement will help |B) | The framework between industry and farmers

industries and farmers in will ease the latter’s all woes and simultaneously
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making a profit.

enhance wellbeing.

0)

The framework will give a |
fillip to the food

processing industry.

The agreement will enhance farm produce and
food processing, and improve farmers’ plight.

Q73 | Convert the sentence to passive voice
The doctor advised the patient not to eat rice
A) | The patient was advised |B) | The patient has been advised not to eat rice by
by the doctor that he the doctor
should not eat rice o
C) | The patient was advised | The patient was advised by the doctor not to eat
that he should not eat rice rice
by the doctor
Q74 | Which of the following is the best substitute for the phrase ‘one who knows everything’
A) | Omnipotent B) Omnipresent
Omniscient D) | Omnifarious
Q75 | Convert the sentence to indirect speech
He said “I live in the city centre”
A) | He said he lives in the B) | He said he had been living in the city centre
ity centre
He said he lived in the city | D) | He said he has been living in the city centre
centre
Q76 | ‘Windfall Tax’ is ....?
‘fswior dora 8...12 "
A) | Tax levied on renewable \Zf Tax levied on businesses experiencing
energy consumption extraordinary profits
ARHIONT Falt WIT T 3THTEIROT AT T A i dlel STGHAT T
ST 31T hY h oIIITAT 1T
C) | Tax levied on non- D) | Tax levied to bring zero-tax paying companies
renewable energy into the ambit of income tax
consumption ITAHT & G F Y- STl et arell
IR -l S @I HUfadl Sl o & AT ST 717 H
O 9T 91T h{
Q77 | Read the following statements regarding the payment systems of the Reserve Bank of

India (RBI):
AR Re1d S (RBI) 1 311 Yonfordt & deer 7 farafaiad F2e ge:

i) Real-Time Gross Settlements (RTGS) is primarily meant for large value
transactions and the minimum amount to be remitted through RTGS is Rs.2 lacs.

ii) Even a person who does not have a bank account can remit funds through
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National Electronic Funds Transfer (NEFT) to a beneficiary having a bank
account, with another NEFT member bank.

iii) Real-Time Gross Settlements (RTGS) transactions are processed in batches and
hence there might be a slight delay for the actual transfer to take place.

i) AEdias THY Hehol AT (HRESITH) AET & A 3 Hod el & fav
¢ 3R IRESNTH & Areysw @ 9T 1 J= arell 7 ga1an7 TR & .2 ar@
gl

ii) Tl a o v cafda forasd ar S @rar 781 ¢, 98 TSET saaciias B
TAHT (TASUHET) & ATCTH § U arareft &Y S @rar 3@ are v
3T TASURE! HEET & & TTY 8T AT TohT &1

iii) AEATAS THT Aohdl S1eddl (ARETSTH) ddcs oI S & Farad far
STar g 3R safaw areafas gEaraver & e a8 &3 8 asdr 81

Which of the above statements is/are correct?

Wﬁ#ﬁamma@r%/%‘v

i) and ii) only B) ii) only

C) |i) and iii) only D) | All the above

Q78

India’s first national repository for life sciences data — The Indian Biological Data
Centre (IBDC) was recently established by the Government of India. Where this IBDC
is located?

R T Igoll TSI Siiae [T 3e1 F AT $73K) - 9RdT 3w 3e1 $ig (IBDC)
BTeT &1 7 TR TR @RI FATRAA f3ar arm 47| g IBDC gl [eud 82

A) | Ahmadabad, Gujarat ‘Ethennai, Tamil Nadu
C) |[Dehradun, Uttarakhand | Faridabad, Haryana

Q79

‘Red Line Campaign’ of the Union Ministry of Health and Family Welfare is related to
which of the following?

FET TarEey 3R IRER Fearor #FeT F1 T deT AR Afaf@a d 3
o gefa g2 P

A) | Monkeypox BT | Antimicrobial resistance

C) | Covid 19 D) | HIV - AIDS

Q80

Under ‘Universal Immunisation programme (UIP)’, Government provides free of cost
vaccine against which of the following diseases?

, JfATE e SFGATSAU WA (TS ‘F 5, THR afafaa & ¥ g er
& fRraTs f: Yo dFeie are e 2

(i)Japanese Encephalitis
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(it)Measles
(iii)Polio
(iv)Hepatitis A

A) [ (i).(ii) and (iv) only B) (ii) and (iv) only

(i), (ii) and (iii) only D) | (i), (i), (iii) and (iv) only

Q81

Out of the following Newton’s Laws, which of these principle (s) is / are required to
launch the rockets?

fArAfafla e & IR 7 @, el I died Ha & o 378 F HiaT &1
faeura (3ih) $r smaasar g2

i) Newton’s 2™ law of motion
ii) Newton’s 3 law of motion
iii) Newton’s law of gravitation
iv) law of conservation of linear momentum

A) L)+ ii) B) [ i) +iii)

i) + iv) D) |i)+iv)

Q82

Which of the following fact (s) is / are correct with respect to “Concave lens”:
farfaf@a # ¥ #ia a1 gy “saaa dw" F EEw A /T

i) It is thinner in the middle than at edges.

ii) Itis a converging lens.

iii) It produces virtual images.

iv) It is used to treat myopia.

i) e Rt i Jorar & & H adqer 3

ii) Tg U AFfRTROT T §

iii) Tg MR AT R FRAT £

iv) ST 3T ATANTAT ¥ fore frar Srar &

A) | 1) +ii) + iii) \ i) + iii) + iv)

C) |ii) +iii) + iv) D) [i)+ii) +iv)

Q83

In a queue, Alex is 1 1™ from the front and Bob is 23" from the end. Charlie is standing
exactly in between Alex and Bob. Also, Alex is standing ahead of Bob. If there are 53
persons in the queue, then how many persons are standing between Charlie and Alex?

TS FdR H, TolFq A A 11 § 3R §79 319 ¥ 23 § T W &1 Ireif vy 3R
die & oI ool @ST B | $HS ITellal, Tolery sl & 3191 @3T8 | Afe R 7 53
=gfFa &, ar arelf 3R voled & N fraa safFa @ &

A) |8 N 9

C) [10 D) |11

Q84

Adhvik travelled from his house to the bus stop at the rate of 25 kmph and walked back
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P

at the rate of 4 kmph. If the whole journey took 5 hours 48 minutes; then, what is the
distance of the bus stop from his house?

3erfaen o 379 B & 25 foret wfer 6 1 &X & a8 w9 des arar i 3R 4 e g
g Y e & arad et 70| A gl AT A 5 € 48 AT o9 Y, SEF WA I

T T g F4T 82
A) A0 km B) 15 km
19F [20km D) |25 km
Q85 | If the radius of a circle is decreased by 50%; then, what will be the percentage decrease
in its area?
e Rt ga &1 BT 50% % 81 SATell 8; 6T, 38k & & wfaerd v war
grafr
A) | 10% B) L 25%
C) |50% 75%
Q86 | A bus travels the first one-third of a certain distance with a speed of 10 kmph; the next
one-third distance with a speed of 20 kmph; the last one-third distance with a speed of
60 kmph. What is the average speed of the bus for the whole journey?
T 99 10 R ufa g i a1fa & @y ve ARaa gl & ggar ves-fagrs v amn
I §; 20 foraT wfey ¢ fr a1fa & ary srerelr ek fagrs gl 60 fraT wfa e &r
aifar & @ 3ifaw v faers gt ot amn & faw @ &1 3iraa aifa = g2
P
A) | 15km \NB) | 18km
C) [20km D) |24 km
Q87 | A sum of money amounts to Rs. 9800 after 5 years and Rs.12005 after 8 years at the
same rate of simple interest. What is the rate of interest per annum?
T fr AR Hr ARA| 5 /1T F a1 9800 3R WILROT TS T Teh g & I 8 A &
TE Rs.12005 | 9y @ saret Y & 41 82
A) | 5% B) | 8%
12% D) | 15%
Q88 | The average of ten numbers is 7. If each number is multiplied by 12; then, what is the
average of the new set of numbers?
&H HEATHt &1 e 7. §1 A 9% HE&Ar 12 F o A S 8 Y, Feansit &
T YT &I 3T FAT 82
A) | 19 B) [,32
C) |65 84
Q89 | Study the pie chart and answer the question that follows it.

TS TTC T AT HY AR 38 TR 1 3 & ST SHHT Ie6R0T AT 8 |
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« proteins

= other dryelements '« water

elements

w 14%

What will be the quantity of of water in the body of a person weighing 50 kg ?
50 ferell astet aTel safdd & AR # 91=AT Fr AT e grafr?

A)

20 kg

35 kg

)

41 kg

D) [50kg

Q90

Which of the following are the applications of “Doppler effect”?

Tl # & e a1 "SeR Fara 35 Hegsraar &2

i) To measure the speed of a train.

ii) Tracking the location of the man-made satellite.
iii)  Tracking the speed and location of the aeroplane.
iv) Determining the speed of submarine.

i) T ¢l T 91T T AT & T

i) AT AFAT 398 F TUH R F9) @)

iii)  gars SIgTeT I a1t 3R TATH 9T AR T@aT|
iv)  eIged & arfa e

& ] D e TBA Lt B
C) |ii) +iii) +1iv) All the above
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Q91 | Match the following radio isotopes for their medical application:
3% RIfRcar e & fav Arafaf@a WA snsaey &1 A F¥:
i) Na* a) to treat skin cancer / caHT Sh¥X & STl el & [T
i) 1 b) to diagnose anaemia / T TAAT & folTel Slall
iii) Co® ¢) for function of heart / f&er & #1F & faT
iv) Fe” d) to cure Thyroid disease / UTARTSS AT HI Sk FIA & faT
A) | i)=Db); ii) —c); iii) — d); B) | i)—d);ii)—a); iil) — b); iv) —¢)
211V)—2a)
B | -c)ii)—d)ii)—a); D) [i)—d);ii)-c);iii) —b); iv) —a)
iv)—b)
Q92 | Match the following ore with its formula:
U g & Y farafafld 3w &1 @ wi
i) Bauxite a) Fe;03
ii) Malachite b) MgCO;3.CaCO;
iii) Dolomite ¢) Cu2CO3 (OH)2
iv) Haematite d) A,O 2H,O
A) | i)=b);ii) —c); iii) —d); B) | i)—d);ii)—a);iii)—b); iv) —c)
iv) —a) P
O) [i)—c)ii)—d)iii)—a); {BF |i)—d);ii)—c); iii) — b); iv) — a)
iv) —b)
Q93 | Match the pH with the following items:
fArAfafad Al & ATy pH H1 fAere
i) Pure water a) 1.0
ii) Stomachacid |[b)5.0
iii) Fresh milk ¢) 9.0
iv) Baking Soda d) 7.0
A) | i)=Db);ii)—c);iii))—d); i) —d); ii) — a); iii) — b); iv) — ¢)
iv) —a)
N i) — d); ii) — a); iii) — b); D) |i)—c); ii) —d); iii) — a);
iv)—c¢) iv)—b)
Q94 | Which of the following species is the “State Tree of Tamil Nadu”?

frafaf@a # @ Fi @ yonfa «afferg #1 1T e 82
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A) | Tectona grandis B) | Azadirachta indica
4 Borassus flabellifer D) | Ficus religiosa
Q95 | Arrange the following Green House Gases (GHGs) in the order of their Global
Warming Potential (GWP):
HYAT TS ATfHT &TAAT (GWP) & %A H frfaf@d it gr3@ 34t (GHG) #r
SUGEAT H:
)] Methane (CH4)
ii) Carbon dioxide (CO2)
iii)  Nitrous oxide (N20)
iv) Perfluorocarbons (PFCs)
A) | iii) >iv) > ii) > 1) NB')/‘ iv) > iii) > i) > ii)
C) |ii)>iv)>iii)>1) D) [ii)>1i)>iv)>iii)
Q96 | Among the following, what are all present in the “Chloroplast”?
fArfaf@a # ¥, "FeRiceree # Fair #ar Ale &2
i) Stroma
ii) Thylakoid
iii) Stroma lamella
iv) Chloroplast DNA
A) | i)+ ii) +iii) B) | i) +ii) +iv)
C) |ii) + iii) + iv) DY All the above
Q97 | “Price spread” is the difference between consumers price and....... ?
"Hed THR" T3l & A 3R ..... 3 & 1 AT g2
~
\/5 Producers price B) | Retailers price
3cUIeH Hed e fashl {ed
C) | Commission agents price | D) | Wholesalers price
HHRIE Tole AT HIAT U AR Hod
Q98 | Which among the following is the most suitable soil structure for crop growth?
frafaf@a # & #ia @1 vua e F AT gad 3uged A i avaer g2
A) LAplaty I9cT B) Prismatic H&IT3H
‘yer Granular GGR D) | Columnar TAsT T ET

21|Page




r

Q99 | In Agriculture, “Liebig’s Law of the Minimum” is related to which of the following?

FY &, “fafear & s Fgmas Pfafae & ¥ e @esfa i

”
A) | Input cost management Nutrient management
s T geua GIveh JaereT
C) | Labourer management D) | Pest management
HSIeY JaUe HIT gt

Q100 | Which of the following category the weed “Cyperus rotundus” belongs?
fArfaf@d & @ Sl dr Aol "gead Az &2

A) | Biennial weed B) | Annual weed
{ TIAAR % TgdarR
A J)f Perennial weed D) | Summer Annual weed
eyl @gaar IHf aI¥F  WIAER
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S q AT Tg T TRGHT G &l 7 Fgl ST a9 a6 7 et
reror giRaeT sIaET

e P

T AATADT T T&T AT G
(st iRt srEeT uE e aReg)
FIFE — 641002

TR TgTaE Ue & forg ferfea adrer
e : 11 wadt 2023

7 g

a97 : 180 fee quria: 100
Wi % I 3 § Yo Ao et fil e | a2
iR CEl
1. T I B9 % qEd 9T€, AT T/ T RaHT it TS5aTe 997 F o [ THqH Hl (€947 T,
T AT F2T g3 IS STIaT Wier, afe 7 g af VAT 8, a1 38 Tal o [Rasr & arad A
2. gdeer qfeasT SFH F SM.UASR T9F & arF-ar IqreAfad o=w § oft sifea frar s
Ffzul
3. W I qRaET F €7 F g TAF T By i 6 AT # AT g1 Tt Arwat 7, s qenr
& sifaw 31 wed® 7o § T TG (I9) A, B, C 3 DRI 7w 1 =9 % & us wegme A A7 A,
S 3T IT-T=F 9Y s FAT Argd 81 AfS st vaT o fF uw § srfw s @@y 8, ar
IH T FT S FL ST AT TATTH A1 TAF T F [T Faer T g T gq< 9497 2
4. e ¥ g0 & T I T=E S srafRufa w7 # uAT gEaneT F
5. =g gt F2 fF Aders T ot & uw. s ST 99 X gearer< 4 g

6. Fae FIe(l HTRT AT TS TATEE I T ET TINT L 3T A TH.AR ST TAF WL & o it o
AT FES T T ITTRMT F HR

7. .TH.AL ITC TF I NS F G TG § HTAT HL| A WX T Gt A sgrgeny, o A av
IS 3= FRe 7 IR T W

8. IAI.TH.IT I TAF | AT TATAT 6 AATaT el 377 €1+ 9 foraw #t siqafa 9871 gl

9. ot ff g #F1F &1 F7 & T A.UW.AR ITX THF FT IUTNT 7 FL| g FH 6 (0 4
qdteror it F ofd # fear v )

10. 3. TH. 3 I TF Hl dg AT [AFd 7 FL AT Fls geqe [ 7 910

11. T4 TET IAL & [oIT TH 3 TR TAF TAd IA & ¢ 0.33 3 Fire forg sran

12. T 751 % forg v & fds 39 39 9 3/ Tod 39 g1 AT A ft St g Ry mw o F
fora g sf= =gt T srom

13. qreAT @|T 2 ah fet oft SedfieaTe it ader gia gre it safa a8t
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